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MEC-001 : MICROECONOMIC ANALYSIS
Time : 3 hours Maximum Marks : 100

Note: Attempt questions from each section as per
instructions given.

SECTION A

Answer any two questions from this section. 2x20=40

1. There are 2 firms in an economy : Firms A and B.
Assume Firm A is a leader. The market
demand for their product is given by P = 30 — Q,
where Q = Q, + Qp and the Marginal Cost
MC = 12. Find the Stackelberg solution of the
model. How is this solution different from the

Cournot model ?

2. (a) Why would you agree that the two
fundamental  welfare  theorems are

important in welfare economics ?

(b)  What is a social welfare function ? Why is
Bergson-Samuelson social welfare function
considered as an important contribution ?
Explain.
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3. (a)

(b)

4. (a)

(b)
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Decompose the price effect into substitution
effect and income effect wusing both

Hicksian and Slutsky approach.

Discuss the difference between
Compensated demand function and
Ordinary demand function, both, for the

normal goods and inferior goods.

Discuss reasons why asymmetric
information can be a source of market

failure.

There are two types of televisions available
— high quality and low quality, with the
sellers who know the quality. However,
buyers cannot distinguish the quality.
Assume that the seller of a low quality TV
will sell for ¥ 50,000 and that of a high
quality TV will sell for ¥ 1,20,000. Buyers
are willing to pay ¥ 70,000 and ¥ 1,50,000
for low and high quality TV respectively.
Assuming the probability of obtaining a
high or low quality TV to be same, how
much is the TV worth ? Use your answer
above to explain why market failure has

occurred.



SECTION B

Answer any five questions from this section. 5x12=60

5. Determine the equilibrium output (Q), price (P)
and profit (n) of a multi-plant monopoly firm
with total cost function TC (f;) = 200 + ¥ (f;,)2 and
market demand faced is P = 140 — Q, where

Q = market demand.

6. Consider a consumer with 2-period horizon. His
utility function is U = x;x,, and actual income is
y; = 10,000 and expected income y, = 5,250. If
the rate of interest is known to be 5% per annum,

find his optimum consumption expenditure.

7. Write short notes on :
(a)  Merit Goods
(b)  Hotelling’s Lemma

(c)  Consumer Surplus

8. There are N people living in a village engaged in
fishing (F) and transport services (T). The
utility function of each of these people is given to
be U; = (fi)2 . T. If the production possibility
frontier is depicted by F2 + 3T2 = 1800, find the

Pareto-optimal provision of T.
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9. Consider the following game :

0,1 3,2)(-1,3) (1,5)

(a) Can backward induction be applied in this

game to find a solution ?

(b) How many subgames are there in this

game ?

10. What is the Theory of the Second Best ? Prove
the theorem with the help of a diagram.

11. Suppose a firm’s cost function is differentiable.
Let x; (w, y) be the conditional input demand for
input i, where

w = vector of input prices
y = output.
Prove

@ 0x:(w,y) <0
oW :

(i)  x;(tw, y) =x; (w, y), for any constant t > 0.
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3. (h)
(@)
4. (%)
(@)

MEC-001

oo o Torewehl, gFt i fafemt (Iumm)
T TAN A §C HIEG TWE HI TRIETIE
9TE Td ™ y9E § faaifaa i |

SIAqRA T o T S AT B H 3R
H1, g FEgel T TgE aeqe Qe %
Hey | == IV |

=i Hife o fre v sremfid g

TSR <hl fawetdl A RO o Hehdl & |

Tl YR oh Cefiided de — I TUrE 9Tt T
1 e arel foshdtedi W UM 3Ued @
3T 32 TR T T B | hal 310 U T
W GhdT | A e f faskear s =
TUrEET 9Tl defifast d¢ T 50,000 H q9T I
TUTERT Tl T 1,20,000 H S=T 8 | Shal $%h
foTw sue: ¥ 70,000 9AT T 1,50,000 T
TR g | TW et fop 38 3= e Toras
Tt Iefifest B e Y wifesan (o)
U B, d@ e 38 fie et Scfifos @ =
TIWH R OB ? M0 IW h YR W
Ty fop oI fope TehR fomet @1 2§ |




LCLERC|
39 @UE G a1 gier g9 & FR v | 5x12=60
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MEC-001 7 P.T.O.



10.

11.
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@ 0x:(w,y) <0
oW :

(i) x;(tw, y) = x; (w, y), JE t>0 aﬁ's‘ ESAED
g
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